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Diploma in Engineering (Sixth Semester)
Examination, 2020 A P+MAY .

(Old Scheme)

(Mech. Engg. Branch)
ESTIMATING & COSTING
Time Allowed : Three hours

Maximum Marks : 100

Minimum Pass Marks : 35

T : Y F97 507 FIGT &9 a& [# Fg! 599 [awid
7 for@r g1 fHat ot ¥R & dog srgar faae #71
fefa o siasit g9 & F97 &1 ifaq 41T W

Note : Attempt all questions, unless mentioned
otherwise. In case of any doubt or dispute the
English version question shall be treated as final.
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AT 1 150% T FrATea IR, Trqul el ST
H1 25% T 1 9% YAF diee qAw @ F fowa qe
Z 175 B @ 9 s for et w1 # =t Wi T A
e B ag feed el /2
A factory is producing 1000 bolts and nuts per hour on
a machine. Its material cost is ¥ 400, labour cost is

Z 350 and the direct expenses is ¥ 75. The factory
on-cost is 150% of the total labour cost and office on-

cost is 25% of the total factory cost. If the selling price
of each bolt and nut is ¥ 1.75, calculate whether the

management is going in loss or gain and by what amount?

rgar
Or

(a) T o Ix¥d H fAf@q
Write the objective of costing.

(b) TR TF Hie w wiw (94 TR T TE
! FHHEY |

Draw a block diagram of elements of cost and define

the terms.
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2. (a) 3MHTH UG AR H FR W FHif9|
Differentiate between estimating and costing,

(b) fafay v =1 THAECY 5

Explain the miscellaneous allowances.

3. TH 50 WX H T & =1 HT 9R J1q Hite fSaeht
T Fl fa7 & FER ® aur 1 Yffo =W & B W
TR BT F IR W R 66 UG TR T 10
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J
Calculate the weight of 50 metres of a steel chain, one

link of which is shown fig. Link is made from 1 cm
diameter rod. The weight of rod material is 6:6 gm/cm

length.
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4. S HUIS FN T2 Wk 9 @il @l fafgwi 10

What is Budgetary Control? Write its ten advantages

5. T Gien fge = 4 Yeto qu g 15 Wfto
2f577 g1 5 Ao TS A Tk I H 3-8 Hlo =M
A9 9 10 Yefto oAwNE 1 3-4 Jfto =W H SHIAT T
31 = ¥ o g HI TR Wit afg widn wiie
30 Ho/fFe aen ws 0-02 Jto WA = B 1 A W
o § e ofen zm 30 ke ¥ <@ AT wwa
Ien Y ey 10

A 15 cmlong M. S. bar is to be turned from 4 cm dia
in single cut in such a way that for 5 cm lenght dia is
reduced to 3-8 cm and remaining 10 cm length is reduced
to 3-4 cm. Estimate the total time required for turning it,
assuming cutting speed as 30 m/min, feed as 0-02 cn/
rev and time required for setting and mounting of the
job in a three Jaw chuck is 30 sec. Neglect the tool

setting time.

6. 6 Thrto SPERTS G Hg T i 1 Hied it 741 10
firfo A Q Ve AW e AIH ITS H IEA T
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frefafiad offwsl #t WeE@ ¥ dved @Fd T4

Ffa—
() YgH U@ = 250 TR

(i) T TS = 30 Ae

(i) Afee wfa = 10 Hio/eue

(v) SRS @y = 0-1 fRuode afven

V) 99 g3 = T 2/99

(vi) forpa e = % 0-2/fFo dfe wug

(vi) ToFEIS qE@ = T 35/fRmo

(viil) TR &1 SFA@ = 60% 10

Two 1 mlong M. S. plates of 10 mm thickness are to be
welded by a lap joint with a 6 mm electrode. Calculate the

cost of welding. Assume the following data :

@ Current used = 250 amperes

(i) Voltage = 30V

(i) Welding speed = 10 m/r.

(iv) Electrode used = 0-1 kg/m of welding
(v) Labour charges = ¥ 2.00/hr.

(vi) Power charges = T 0-2/kWh

(vii) Cost of electrode = T 35/kg

(vii) Efficiency of machine = 60%.
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7. foz # fe@mu oER SFE@a 200 T 4 HHio AW &
IR Wie ¥ g WA R T S | SR @)l
[UGESICEETIE e 10
() v @mm@ 2 100 wfd Hew
() W =t 0-01 wfd T2 wISW wwe @)

(i) S0 AFTE qSrd @RI 6T 10% |
gt wve Bl & A gT AT RifS)
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'\‘I /_-’ X
S Atk em 4

200 pieces of a component as shown in fig. are to be
drop forged from a 4 cm dia stock bar. Calculate the
cost of manufacturer, if :

(i Material cost is ¥ 100 per metre

(i) Forging charges @ Re 0-01 per cm? of surface
area to be forged.

(i) On-cost is 10% of material cost.
Consider all possible loss during operations.
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8. wfaed a1  ? fafvm yohr &t wfuew g2 = gwemsel 10

What is pattern? Explain various types of pattern

allowances.

9, fa= ¥ feu fomt oMK ¥ TR @G & @FTd h
U i Al s TR1Y 10% T TR H qed T 20/
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Estimate the cost of metal sheet for preparing a funnel
as shown in fig. Assume the wastage of metal as 10%

and cost of the sheet as ¥ 20/m?.

1

8 tim ™
I\, | bem
WY |
\l.\l. I| r {f ||; !
Vo £ Lomy
L *JL
Irerar
Or
yiie dew =t fafe= Sfeae @ suet g2 & Wy
BSEEHY 10

Explain different sheet metal operations with its

allowances.

10. Tsitrym wiig ¥ fafi= Sig fafel <1 ww=mwQ) 10

Explain different joining method in fabrication shop.
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